
W. E. Plemons Machinery Services, Inc.

P
ar

ts
 L

is
t 

&
 I

ll
us

tr
at

io
ns

Plemons Options

8-80

PMS
Geared to the World

ASSEMBLY 2013500
MINOR FLAP FOLDING PLOW
ASSEMBLY (LEAKPROOF
COMPRESSION)

ITEM PART NO. DESCRIPTION QTY.
1 0054201 MOUNT, COMP. BEARING 4
2 0016908 STRIPPER 4
3 0022605 COMPRESSION ROLLER REF
4 0031501 PLATE, AUXILIARY COMPRESSION 4
5 0014704L/R SHOE, TRAY COMP. (WAXED) 2/2
~ 0014701L/R SHOE, TRAY COMPRESSION 2/2
6 0018806L/R PLOW, OUTSIDE FLAP 2/2
7 0018807L/R PLOW, LEAK PROOF 2/2
8 0200900 BUSHING 8
9 0207100 BUSHING 4

10 0034100 SHOE, BAR CLAMP 4
11 0022501 SHOE, CENTER FLANGE FORMING 2
12 0064900 GUIDE BRACKET 4
13 0098003 PLOW, FLAP GUIDE 4
*14 0090902 PLATE, CLAMPING REF
*15 0209301 BUSHING REF
100 0501101 BEARING (1") 4
101 8024900 3/8-16 HEX HALF NUT 8
102 8010300 3/8 NC X 1 3/4 HEX HD SCR 8
103 8035900 3/8 FLAT WASHER 8
104 1200800 SPRING 8
105 1201600 SPRING 4
106 8025500 1/4 NC FIBER LOCK NUT 8
*107 8010400 3/8 NC X 2 HEX HD SCR REF
*108 8036800 3/8 SPLIT LOCK WASHER REF

~ OPTION PART

* USED WITH KC TOP COMPRESSION BAR ONLY



W. E. Plemons Machinery Services, Inc.

Plemons Options

P
ar

ts
 L

is
t 

&
 I

ll
us

tr
at

io
ns

8-81

PMS
Geared to the World

ASSEMBLY 2013500
MINOR FLAP FOLDING PLOW
ASSEMBLY (LEAKPROOF
COMPRESSION)


